. 230

Pier No. 3

Tested October 3rd, 1918.  Age, 108 days.
Height, 5 ft. 7% ins. = 22 courses. Cement mortar.
E — 330,000 lbs. per sq. in.

Strength = 630 lbs. per sq. in. 1/di=1B:
Load Deformation Load Deformation
000:1b8.s w5 i s .000 ins. 32,2001bs........- .087 ins.
4600 “ ........ 10125 8 40,300 “ ST T
T42008 e 036 “ AT0007 F5dn temices failed
24,(:300 BT e 066

!! T T B Y

3
i
v
S
¥
3
=
=1
=
r’. 4
=
=
4
¥
=
¥
z
¥

“““‘0 e

TEST OF BRICK PIER AT UNIVERSITY OF TORONTO

Pier No. 4

Tested October 7th, 1918.  Age, 112 days.
Height, 5 ft. 7% ins. = 29 courses. Cement mortar.
E — 284,000 lbs. per sq. in.

Strength = 560 lbs. per sq. in. 1/d =7.8.
‘Load Deformation Load Deformation
bO00:0D8 55 v s .000 ins. 29,800 1bs......... .092 ins.
e BORS ol s 005 “ 38,600 ¢ ........ 12955
20,700 55 i v an e o1} if ALB00 2% S A failed
011 R 063 “
' Pier No. 5

Tested October 8th, 1918.  Age, 112 days.
Height, 4-ft. 1 in. = 16 courses. Cement mortar.
E = 234,000 lbs. per sq. in. '

Strength = 570 lbs. per sq. in. 1/d =.5.7.
Load Deformation Load Deformation
/000 Tos...... .- 000ins.  31,0001bs......... .084 ins.
BOD 8 e e s 000 “ B8RO0 iy sl 108 “
10.400 ¢ ........ 082« GR00¥ ", S failed
21,000 ¢ ... .059 «
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Pier No. 6

Tested October 8th, 1918.  Age, 112 days.
Height, 4 ft. 1 in. = 16 courses. Cement mortar.
E = 276,000 lbs. per sq. in.

Strength = 580 lbs. per sq. in. 3/ d==16:7¢
Load Deformation Load Deformation
000 Tbs........- .000 ins. 30,0001bs......... .071 ins.
2 2008 de vy dh s 005 “ 28I000 5 090
18,0005, e .033 “ 4320075 s 5 v failed
20:000. 2C5 2w 045
Pier No. 7

Tested September 25th, 1918.
Height, 12% ins. = 4 courses.
E was not determined.

Strength = 780 lbs. per sq. in.

Age, 107 days.
Cement Mortar.

1/d = 1.4.

Pier No. 8

Tested September 26th, 1918.  Age, 107 days.
Height, 9 ft. % in. = — 36 courses. ‘Lime mortar.
E = 215,000 lbs. per sq. in.

s o
'

Strength = 340 lbs. per sq. in. 1/d = 12.5.
Load Deformation ~ Load Deformation
000 1bs..: <.k .000 ins. 14200 1bs......... 091 ins.
T SR 012 “ 17,800 oy 5ok 1187 ¢
G200 ot L 1042 ¢ 2118004 5 st 160/ )%
123000850 0 e o e 078 % 25,400 1. .o 207 failed
Pier No. 9

Tested September 27th, 1918. Age, 108 days. ‘

Height, 9 ft. = 36 courses. Lime mortar. 4

E = 208,000 lbs. per sq. in.

Strength = 350 lbs. per sg. in. 1/d = 12.5. ’
Load Deformation Load Deformation
00018 oo s .000 ins. 15,200 Ibs.. . ...... .106 ins.

2000 €5s dsaliticas 016 “ 20,000.% o -5 b .
QGA00 "1 65 bR 062 “ 25,800 . i .o failed
Pier No. 10

Tested October 1st, 1918. Age, 110 days.

Height, 5 ft. 7% ins. = 23 courses. Lime mortar.

E = 242,000 lbs. per sq. in.

Strength = 420 1bs per sq. in. 1/d = 1.8.
Load Deformatlon Load Deformation
000 IbE. 2o S .000 ins. 21,8001bs....vv.n 079 ins.
0000 oL iR e 012 812007 =L . w3 oy 106
8.900~ £ i ianaae v 030 81,200: % - v failed
16,8004 sale iy msibio 054 “
Pier No. 11

Tested October 2nd, 1918. Age, 111 days.
Helght 5 ft. 7% ins. = 23 courses. Lime mortar.
— 214,000 1bs. per sq. in. i

trength — 410 lbs. per sq. in. 1/d = 7.8.
Load Deformation Load Deformation
000 1bS..cvvvnns .000 ins. 19,000 1bs......... .078 ins.
4,600 “ ........ (1225 242004 e s 100 %
10,600 “ ........ 042 « B0 600 T failed
Pier No. 12

Tested September 21st, 1918. Age, 94 days.
Helght 4 ft. % in. — 16 courses. Lime mortar.
— 119,000 lbs. per sq. in.

Strength — 340 lbs. per sq, in. 1/d = 5.6.
Load Deformation Load Deformation
000 1bs.......u. .000 ins. 19,6001bs......... .108 ins.
B0 € s 023 P00, 4 o sw i 128"
0,500 * . ol 048 “ 95,8001 i fe failed
15,800, * . ufoien SRe. N 088 “




